):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX KKK XKXXXKXXXXXME/1-6300202-00001XX
LimitExerciseOl for No.8765

7-8x+x
Nol=|f(x)=—",a=1
| x | 0.8000| 0.9000] 0.9900| 0.9990|] 0.9999|.. |a= 1]...] 1.0001] 1.0010| 1.0100| 1.1000] 1.2000]
X
No2=|f(x)=y—>—"",a=0
L |x +x |
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]

CT

No3 = f(x):—4,a:4
L X

| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4]...] 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000]|
sin(x)
No4=|f(x)=—"a=0

X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
7€ -7
NoS=|f(x)=—""a=0

X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-12,B=-11,y=-10,6=3,c=4]
DGR (CHE NN IND 9.9:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.0:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKME6/1-6300202-00002XX

LimitExerciseOl for No.8767
¥ +2x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-2 +x
No2=|f(x)=—"—",,a=2
Sx—14+x
x | 1.8000] 1.9000] 1.9900] 1.9990] 1.9999|.. Jla = 2]...] 2.0001] 2.0010| 2.0100| 2.1000| 2.2000]
4 x
No3=|f(x)="""a=0
e —1
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
cos(x)—1
Nod=|f(x)=—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
3-fx
NoS=|f(x)=—"a=9
9—x
| x | 8.8000| 8.9000| 8.9900| 8.9990| 8.9999|.. Ja = 9]...] 9.0001|] 9.0010| 9.0100] 9.1000] 9.2000]

No6=[a=-4,p=-1,y=0,5=5,¢=12]
DRI (CHE VN IND 9.0:9.0.9.9:0.:0.0:9.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKKKKKME6/1-6300202-00003XX

LimitExerciseOl for No.8768
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x [-0.2000(-0.1000[-0.0100[=0.0010[-0.0001].. |a = O|...|] 0.0001] 0.0010] 0.0100| 0.1000| 0.2000]
11 x+28 +x°
No2 =| f(x)= ,a="17
7 +x
| x | 6.8000] 6.9000| 6.9900| 6.9990| 6.9999|.. |a = 7|...| 7.0001| 7.0010| 7.0100| 7.1000| 7.2000]

NOS:{f(x)ze B ,azO}

x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
x—4
Nod=|f(x)=—="",a=4

Jx =2

| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]
3x
No5=|f(x)=y——"",a=0

|x +3x

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-9,B=-4,y=2,8=3,6=6]
DRI (CHE VS H D 9.9:9.:0.9.9:0.:0.9:0.0.9:9.0.0.0.9.0.9:9.0.9.0.9:0:9.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK KKK KXXXKXXXXXME/1-6300202-00004XX
LimitExerciseOl for No.8779

Nolz{f(x): z ,azo}
e —1

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
36 —x
No2=|f(x)=—="",a=36

Jx -6
| x [35.8000135.9000135.9900135.9990135.9999].. |a = 36]...]136.0001136.0010|36.0100(136.1000136.2000|

—S+x

No3=|f(x)=—"""—,,a=5
-15-2x+x
| x | 4.8000| 4.9000| 4.9900| 4.9990| 4.9999|.. Ja = 5]...] 5.0001|] 5.0010| 5.0100| 5.1000] 5.2000]
X
No4=|f(x)=—",a=0

sin(x)

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

2
X +x
Ab5=[ﬂx):—___ya:0}
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=0,B=1,y=2,8=4,e=8]
DN BET TR LS EED 0/6.6.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK XKXXXKXXXXXME6/1-6300202-00005XX
LimitExerciseOl for No.9404

Nol :[f(x) 2%, a= 64}

| x 163.8000163.9000163.9900[63.9990(163.9999|.. |a = 64]...|64.0001164.0010/64.0100[/64.1000/64.2000|

-1+x

No2=|f(x)=—"",a=1
4 +3x+x

| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. |Ja = 1]...] 1.0001| 1.0010f 1.0100J 1.1000] 1.2000]

sin(x)

No3=|f(x)=—",a=0
X

| x [-0.2000/-0.1000/-0.0100(|-0.0010|-0.0001].. Ja = Of...|] 0.0001| 0.0010| 0.0100| 0.1000] 0.2000]

X +x
No4 = f(x)zw,azo

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
6€ -6
NoS=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-4,B=4y=605=8,¢c=12]
DRI (CHE SN IND 9.9:9.:0.9.9:0.:0.9:0.0.9:0.0.0.0.9.0:9:9.0.9.0.9:0:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6300202-00006XX

LimitExerciseOl for No.9440
¥ +2x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
x—-6
No2=|f(x)=—""",a=36
x—36
| x 135.8000135.9000135.9900135.9990135.9999|.. |a = 36]...136.0001136.0010(36.0100136.1000136.2000/|
-6 +x
No3=|f(x)=—""_ ,,a=6
42 - 13 x+x
| x | 5.8000] 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001|] 6.0010|] 6.0100] 6.1000] 6.2000]
1 —cos(x)
No4d=|f(x)=—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
2x
No5=| f(x)= ~a=0
1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[o=-1,B=57y=8,56=9,¢e=12]
DRI (CHE NN D 9.0:9.:0.9.9:0.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.9.9.0.9:0:9.0.9.0.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6300202-00007XX

LimitExerciseOl for No.9474
Nol [f() x 36 36}
ol =|f(x)=—7—"",a=
Jx -6

| x [35.8000135.9000135.9900135.9990135.9999].. |a = 36]...136.0001136.0010136.0100136.1000(36.2000|
2x
No2=|f(x)=y—>""1a=0
|x +x
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
cos(x)—1
No3=|f(x)=—",a=0
X
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
24 -2x+x
Nod=|f(x)=—"—""",a=
-6 +x
| x | 5.8000| 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001|] 6.0010|] 6.0100] 6.1000] 6.2000]
5¢ -5
NoS=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-2,B=-1,y=1,8=10,e=11]
ORI (CHE VR ID 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK L KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6300202-00008XX

LimitExerciseOl for No.9607
2 —x+x
Nol=|f(x)=—",a=2
2+x

| x | 1.8000] 1.9000] 1.9900| 1.9990| 1.9999|.. |la = 2]...| 2.0001|] 2.0010| 2.0100] 2.1000| 2.2000]

3-4/x

X
AbZz[ﬂx):fz;_;;a:9}

+
| x | 8.8000] 8.9000| 8.9900] 8.9990| 8.9999|.. |la = 9|...| 9.0001] 9.0010| 9.0100] 9.1000| 9.2000]
1 —cos(x)
No3=|f(x)=—"""",a=0
X
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
X +3x
No4=|f(x)=—77,a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
2x
No5S=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-9,p=-8,y=-6,0=-1,e=2]
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXXKKKXXXKKXXK XXX XK KXXXKKXXKKXXXKKXXKKKXX XK KXXKKKXXXKKXXKKKXKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKKKKKME6/1-6300202-00009XX

LimitExerciseOl for No.9965
Nol {f() A 9}
ol = X :—’a:
3-4fx

| x | 8.8000| 8.9000] 8.9900] 8.9990| 8.9999|.. |la = 9]...| 9.0001] 9.0010] 9.0100| 9.1000] 9.2000]
X +2x
No2=|f(x)=—"77"a=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
S5x
No3=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
X
No4=|f(x)=—",a=0
sin(x)
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
x—4
No5=| f(x)= 5 ,a=4
—-10x+x"+24
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]

No6=[a=-10,3=-8,y=4,0=7,e=9]
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXXKKKXXXKKXXK XXX XK KXXXKKXXKKXXXKKX XK KKK XK KXXKKKXXXKKXXKKKXKK



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK KKK XXX X KXXXKXXXXXME/1-6300202-00010XX
LimitExerciseOl for No.10186

6-6¢
Nol=|f(x)=—"",a=0
X

| x |-0.2000|-0.1000]-0.0100}-0.0010|-0.00012].. Ja = O0O]...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
4-ofx
No2=|f(x)=—"—",a=16
x—16
| x 115.8000115.9000(115.9900115.9990115.9999|.. |a = 16]...]16.0001]116.0010]116.0100|16.1000116.2000/|
—6+x
No3=|f(x)=—",,a=6
12-8x+x
| x | 5.8000| 5.9000] 5.9900] 5.9990| 5.9999|.. |la = 6]...] 6.0001] 6.0010| 6.0100|] 6.1000| 6.2000]

[ 4|x| }
Nod=|f(x)=—""_"a=0

X +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
sin(x)
NoS=|f(x)=—"a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-10,3=-6,y=0,0=5,e=7]
DN BET TN R O NIED 0:0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK KKKKKKKME6/1-6300202-00011XX

LimitExerciseOl for No.10203
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
—6x+x"+8
No2=|f(x)=—"",a=4
x—4
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4]...] 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000]|
9—x
No3=|f(x)=—"F=a=9
3-fx
| x | 8.8000| 8.9000] 8.9900| 8.9990| 8.9999|.. |la = 9]...] 9.0001] 9.0010| 9.0100|] 9.1000| 9.2000]
X +3x
No4=|f(x)=—77,a=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
3x
No5=| f(x)= ~a=0
1-e
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-9,B=4,y=5,8=9,¢=12]
bR Te (CHE NN D 9.0:9.:0.9.9:0.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6300202-00012XX

LimitExerciseOl for No.10215
Nol {f() Ly 1}
ol=|\f{(x)=—"7—",a=
Jx -1

| x | 0.8000] 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1]...] 1.0001|] 1.0010] 1.0100| 1.1000] 1.2000]
1 —cos(x)
No2=|f(x)=—"—"—"",a=0
X
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
Xt +x
No3=|f(x)=—77,a=0
x|
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
2-2¢
No4=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—8+2x+x
NoS=|f(x)=—",a=2
-2+x
| x | 1.8000| 1.9000] 1.9900| 1.9990] 1.9999|.. Jla = 2]...] 2.0001] 2.0010| 2.0100| 2.1000] 2.2000]|

No6=[a=-12,B=-11,y=-2,5=0,e=11]
DRI (CHE NN A D 9.0:9.0.9.9:9.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9.0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX XXX XXX X KXXXKXXXKXXME/1-6300202-00013XX
LimitExercise0Ol for No.10889
AVx —4

Nol :[f(x):x_—, a= 16}

16
| x [15.8000[15.9000115.9900115.9990115.9999].. |a = 16]...116.0001116.0010116.0100116.1000[116.2000|
4e -4
No2=|f(x)=—"""",a=0
X
| x |-0.2000]-0.1000[-0.0100[-0.0010]-0.0001|.. |a = Of...| 0.0001| 0.0010] 0.0100| 0.1000| 0.2000]|

X4 x
No3 = f(x)zw,azo

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
—8+2x+x
Nod=|f(x)=—",a=2
-2+x
| x | 1.8000| 1.9000| 1.9900| 1.9990| 1.9999|.. Jla = 2]...] 2.0001|] 2.0010] 2.0100] 2.1000] 2.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=0,=3,y=5,8=7,e=11]
PRI ONICH D 0:6'0°0.:0.0°0:0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKME6/1-6300202-00014XX

LimitExerciseOl for No.10981
6—7x+x
Nol=|f(x)=—"—"—,a=6
6+x

| x | 5.8000] 5.9000] 5.9900| 5.9990| 5.9999|.. |a = 6]...] 6.0001|] 6.0010| 6.0100] 6.1000| 6.2000]

X

3x
NoZz{f(x)z 1,azO}

e p—
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
Ix -7
No3=|f(x)=—""—"a=49
49 —x
| x [48.8000148.9000148.9900148.9990(148.9999].. Ja = 49]...149.0001149.0010149.0100149.1000149.2000/

[ 4|x| }
Nod=|f(x)=—""_"a=0

X +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-11,=-6,y=-1,0=7,=9]
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX XKXXXKXXXXXME6/1-6300202-00015XX
LimitExercise0Ol for No.10996
Ax =5

Nol :[f(x):ﬁ, a:ZS}

5
| x 124.8000124.9000124.9900124.9990124.9999|.. |la = 25]...125.0001125.0010(125.0100125.1000125.2000
6-6¢
No2=|f(x)=—""",a=0
| x |-0.2000/-0.1000]-0.0100]-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
X +3x
No3 = ﬂx)z—T;T_}azo
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
-S+x
Nod=|f(x)=—"",,a=5
-30+x+x
| x | 4.8000| 4.9000| 4.9900| 4.9990| 4.9999|.. Ja = 5]...] 5.0001|] 5.0010| 5.0100] 5.1000] 5.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=2,=3,y=5,8=6,e=12]
PRI NI D 0:60:0:00°0:0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6300202-0001 6XX

LimitExercise0Ol for No.11386
¥ +2x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
7x
No2=|f(x)=—"""a=0
e —1
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
1 —cos(x)
No3=|f(x)=—"—"—"",a=0
X
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]

x

-2
N04:[f(x):4—, a:4}

-Xx
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4]...] 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000]|
—-6+x
No5S=|f(x)=—""",,a=6
-12-4x+x
| x | 5.8000| 5.9000] 5.9900| 5.9990|] 5.9999|.. |a = 6]...] 6.0001] 6.0010| 6.0100| 6.1000] 6.2000]

No6=[o=-12,B=-4,y=5,8=8,c=12]
DRI (CHE NN IND 9.9:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.:9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK K KXXXKXXXXXME/1-6300202-00017XX
LimitExerciseOl for No.11394

Nol =[f(x)=si%(x), azO}

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
Sx
No2=|f(x)= ~a=0
l-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
1—4fx
No3=|f(x)=—"",a=1
I -x
| x | 0.8000] 0.9000| 0.9900| 0.9990] 0.9999|.. |a = 1|...| 1.0001| 1.0010] 1.0100] 1.1000| 1.2000]|

X +x
No4 = ﬂx):‘T;ryazo

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
-7 +x
No5=|f(x)=—"",a=7
—49 +x
| x | 6.8000|] 6.9000] 6.9900] 6.9990| 6.9999|.. |la = 7]...] 7.0001|] 7.0010| 7.0100| 7.1000] 7.2000]

No6=[a=-11,3=-8,y=-3,0=06,£=8]
DN BET TN N ATED 0:6.6.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX XKXXXKXXXXXME6/1-6300202-00018XX
LimitExerciseOl for No.11397

30— 11 x+x°
Nol = f(x)=6—+,a=6
— X

| x | 5.8000] 5.9000] 5.9900| 5.9990| 5.9999|.. |a = 6]...] 6.0001|] 6.0010| 6.0100] 6.1000| 6.2000]

L-ox

X
NoZz{f(x):_—x,a: 1}

1+
| x | 0.8000| 0.9000] 0.9900| 0.9990| 0.9999|.. |la = 1]...] 1.0001] 1.0010| 1.0100| 1.1000| 1.2000]
X
No3=|f(x)=—",a=0
sin(x)
| x |-0.2000/-0.1000]-0.0100/-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
X +2x
No4=|f(x)=—77,a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
3x
No5=| f(x)= ~a=0
1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[o=-9,p=-3,y=1,8=3,e=8]
DRI (CHE AR IND 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK KKK XXX KKK XKXXXXXXXXME/1-6300202-00019XX
LimitExercise0Ol for No.11456

[
Nol =| f(x) = ,a=0

X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
x—4
No2=|f(x)=—"F=a=4
2-4fx
| x | 3.8000] 3.9000| 3.9900] 3.9990| 3.9999|.. |la = 4|...| 4.0001] 4.0010| 4.0100| 4.1000| 4.2000]
X +3x
No3=|f(x)=—"77"a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
No4d=|f(x)=—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—10 -3 x+x°
NoS=|f(x)=—""—",a=5
—S+x
| x | 4.8000| 4.9000] 4.9900| 4.9990] 4.9999|.. Jla = 5]...] 5.0001] 5.0010| 5.0100| 5.1000] 5.2000]

No6=[a=-12,B=-8,y=-6,8=9,£=10]
ORI (CHEVNRCH D 9.9:9.:0.9.9:9.:0.0:9.0.9:0.0.0.0.9.0.9:0.0.9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.9:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK XXX X KXXXKXXXXXME/1-6300202-00020XX
LimitExerciseOl for No.11496

-3 +x
Nol=|f(x)=—"_,,a=3
-3-2x+x
| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]
49 —x
No2=|f(x)=—/=",a=49
Jx =7
| x 148.8000148.9000|48.9900(48.9990(48.9999|.. |a = 49]...]49.0001/49.0010]49.0100/49.1000[49.2000]|
cos(x)—1
No3=|f(x)=—",a=0
X
| x |-0.2000]-0.1000[-0.0100[-0.0010[-0.0001|.. |a = Of...| 0.0001| 0.0010] 0.0100| 0.1000| 0.2000]|
X
No4 =| f(x) = ~a=0
l-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

¥ +2x

| x |-0.2000|-0.1000]-0.0100}-0.0010|-0.00012].. |Ja = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
No6=[a=-10,p=-6,y=9,5=11,¢=12]
DRI (CHE VIR ID 9.9:9.:0.9.9:9.:0.9:9.0.9:0.0.0.0.9.0.9:0.0.9.0.9:9:9.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.9.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4

ieretil]
NoS=|f(x)=—"",a=0



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK XXX K KXXXKXXXXXME/1-6300202-00021XX
LimitExercise0Ol for No.11509

X +x
Nol = ﬂx):‘T;ryazo

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
No2=|f(x)=—"",a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

x— 64

No3=|f(x)=—=",a=64

Jx -8

| x 163.8000163.9000|63.9900(63.9990(63.9999|.. |a = 64].../64.0001|64.0010]64.0100/64.1000(64.2000]|

1-¢"
Ab4:{ﬂx): ,azO}
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
-7 +x
No5=|f(x)=—"",a=7
—49 +x
| x | 6.8000|] 6.9000] 6.9900] 6.9990| 6.9999|.. |la = 7]...] 7.0001|] 7.0010| 7.0100| 7.1000] 7.2000]

No6=[a=-11,3=-8,y=-6,0=3,e=6]
PN BET TNV ENIED 0:06.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX XXX KKK KKK KXXXKXXXXXME/1-6300202-00022XX
LimitExerciseOl for No.11539

N]—[f E] —}
ol=|f(x)=—""a=0

X +x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
1 —cos(x)
No2=|f(x)=—"—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

7x
Asz{ﬂx)z 1,a=0}

X

e_

x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

x—36

No4=|f(x)=—=",a=36

Jx -6
| x [35.8000135.9000135.9900135.9990(135.9999].. Ja = 36]...]136.0001/36.0010136.0100136.1000136.2000/

-2 +x

NoS=|f(x)=—"—",a=2
S5x—-14+x

| x | 1.8000] 1.9000| 1.9900| 1.9990| 1.9999|.. Jla = 2]...] 2.0001|] 2.0010| 2.0100] 2.1000] 2.2000]

No6=[a=-10,=1,y=538=8&=11]
DRI (CHE VA D 9.0.:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:0:9.0.9.0.9:9:9.0.9.0.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.:0.0.9:0.9.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX X KXXXXXXXXME/1-6300202-00023XX
LimitExercise0Ol for No.11585

-3 +x
Nol=|f(x)=—"_,,a=3
-3-2x+x

| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]

4-x

No2=|f(x)=—"F=a=4

2-4fx

| x | 3.8000| 3.9000] 3.9900| 3.9990] 3.9999|.. |la = 4]...] 4.0001] 4.0010| 4.0100| 4.1000] 4.2000]

Rr]
No3=|f(x)=—">""",a=0

x +3x
| x |-0.2000/-0.1000|-0.0100]-0.0010|-0.00012).. |a = O0O]...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

el
No4=| f(x)= ~a=0

l1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-8,=-4,y=-2,0=4,e=06]
DN BET TN IED 0:0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX KKK KKK K KXXXKXXXXXME/1-6300202-00024XX
LimitExercise0Ol for No.11593

X
Nolz{f(x): x,azO}

l-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
2x
No2=|f(x)=y—>—",a=0
|x +x
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
—7+x
No3=|f(x)=—""",a=7
—49 +x
x | 6.8000] 6.9000] 6.9900] 6.9990] 6.9999|.. Jla = 7]...] 7.0001] 7.0010| 7.0100| 7.1000| 7.2000|
cos(x)—1
Nod=|f(x)=—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
16 —x
NoS=|f(x)=—""F=,a=16
4-4fx
| x [15.8000/15.9000115.9900115.9990(115.9999].. Ja = 16]...]16.0001]116.0010116.0100116.1000116.2000 |

No6=[a=-2,p=-1,y=6,8=7,e=11]
DRI (CHE VY S 9.0.:9.0.9.9:0.0.0.0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.0:0.0.9.0.9:0:0.0.9.0.0.9.0.0.0.0.0.0:9:0.9.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKKKKKME6/1-6300202-00025XX

LimitExerciseOl for No.11633
¥ +3x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-9 +x
No2=|f(x)=—""F=a=9
3—4/x
| x | 8.8000| 8.9000] 8.9900] 8.9990] 8.9999|.. |la = 9]...] 9.0001] 9.0010| 9.0100| 9.1000] 9.2000]|

e -1
Ab3:{ﬂx): ,azO}
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
-1 +x
Nod=|f(x)=—""" ,,a=
7—-8x+x
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-8,p=-4,y=2,0=5,e=10]
DN BET TR PASHIED 0:06.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6300202-00026XX

LimitExercise0Ol for No.11636
Nol [f() DX 49}
ol = X :—’a:
7-4[x

| x [48.8000148.9000148.9900148.9990(148.9999|.. Ja = 49]...149.0001149.0010149.0100149.1000149.2000 /|
—2+x
No2=|f(x)=—"", a=2
—-6x+x +8
| x | 1.8000| 1.9000] 1.9900| 1.9990| 1.9999|.. |la = 2|...] 2.0001] 2.0010| 2.0100|] 2.1000| 2.2000]
4-4¢
No3=|f(x)=—"""",a=0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
6|x|
Nod =| f(x) =" ,a=0
L X +3x i
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
sin(x)
NoS=|f(x)=—"a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[0=-9,Bp=-3,y=-2,8=3,e=11]
DRI (CHE VAN D 9.0:9.0.9.9:0.0.9:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.9.0.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKME6/1-6300202-00027XX

LimitExerciseOl for No.11650
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

—-1+x

No2=|f(x)=—""F=a=1

1—4/x

| x | 0.8000] 0.9000| 0.9900] 0.9990| 0.9999|.. la = 1|...| 1.0001] 1.0010| 1.0100] 1.1000| 1.2000]
—x+x"— 12
No3=|f(x)=—"",a=4
x—-4

| x | 3.8000] 3.9000| 3.9900] 3.9990| 3.9999|.. |la = 4|...| 4.0001] 4.0010| 4.0100| 4.1000| 4.2000]

2x
Nod=|f(x)=7>".a=0
|x +x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

1-¢
Ab5:{ﬂx)= ,a=0
X
| x [-0.2000[-0.1000/-0.0100]-0.0010[-0.0001].. |a = O|...| 0.0001| 0.0010| 0.0100]| 0.1000| 0.2000]

No6=[a=-10,3=2,y=5,0=7,e=9]
PRI WA D 0:610°0.0:0:0:0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX KXXXKXXXXXME/1-6300202-00028XX
LimitExerciseOl for No.12273

Nol =[f(x)=si%(x), azO}

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
X +3x
No2=|f(x)=—77 La=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
—-6+x
No3=|f(x)=—"""",,a=6
—6—5x+x
x | 5.8000|] 5.9000| 5.9900| 5.9990] 5.9999|.. |la = 6]...| 6.0001|] 6.0010|] 6.0100] 6.1000| 6.2000]
Ab4:[ﬂx)— ,a= 49}
| x 148.8000(48.9000148.9900148.9990148.9999|.. |a = 49|...|49.000l|49.00lO|49.0100|49.1000|49.2000|
6€ -6
NoS=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-9,=3,y=5,0=6,e=9]
X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK XXX XKXXXXXXKXXME/1-6300202-00029XX
LimitExerciseOl for No.12356

sin(x)
Nol =|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
8 —/x
No2=|f(x)=—"",a=64
64 — x
| x 163.8000163.9000163.9900163.9990163.9999|.. |a = 64]...164.0001164.0010164.0100164.1000164.2000/|
3x
No3=|f(x)=17>"_1,a=0
|x +3x
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
4x-21+x
No4d=|f(x)=—"—",a=3
-3 +x
| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]

X
e
Ab5:{ﬂx)= ,a=0}
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-8,B=-6,y=-1,8=8,£=9]
DRI (CHENIVICE D 9.0:9.:0.9.9:9.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.4




):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX KKK XXX XKXXXKXXXXXME/1-6300202-00030XX
LimitExerciseOl for No.12585

7€ -7
Nol=|f(x)=—"a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
No2=|f(x)=—"—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
x—25
No3=|f(x)=—""F=,a=25
5-4/x
| x |24.8000]24.9000(24.9900]24.9990(24.9999].. |a = 25|...125.0001]25.0010/25.0100]25.1000/25.2000]|
6-—7x+x
Nod=|f(x)=—"",a=
—6+x
| x | 5.8000| 5.9000] 5.9900| 5.9990] 5.9999|.. |a = 6]...] 6.0001] 6.0010| 6.0100| 6.1000] 6.2000|
X +2x
NoS=|f(x)=—77,a=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-3,p=0,y=3,5=4,¢£=8]
ORI (CHEIVCI N IND 9.9:9.0.9.9:0.:0.9:0.0.9:9.0.9.0.9.0:9:0.0.9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.0.9.0.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX X KXXXKXXXXXME/1-6300202-00031XX
LimitExerciseOl for No.12667

[ —2+x }
Nol=|f(x)=—""5,a=2

12+4x+x
1.9999]..

):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

| x | 1.8000] 1.9000] 1.9900| 1.9990]

la = 2|...] 2.0001| 2.0010| 2.0100] 2.1000] 2.2000]
X +2x
No2 = f(x)=—|x| ,a=0
x [-0.2000]1-0.1000|-0.0100|-0.0010]-0.0001].. Ja Ol...|] 0.0001] 0.0010] 0.0100| 0.1000] 0.2000]
5-4/x
No3=|f(x)=—"_,a=25
x—25
| x [24.8000124.9000124.9900124.9990(124.9999].. Ja = 25]...125.0001125.0010125.0100125.1000125.2000
6 x
Nod=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]

| x

[ cos(x)—1 }
No$5 = f(x)=f, a=0

|-0.2000]-0.1000[-0.0100|-0.0010|-0.00011..

la = O0]...] 0.0001| 0.0010]

0.2000|
No6=[a=-10,B=-8,y=-4,8=-3,c=10]

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XKKKKXXKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KKK KKK KKKKKKK

0.0100] 0.1000]




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK XKL KKK KKK KKK KKK XKKKKKKXME6/1-6300202-00032XX

LimitExerciseOl for No.12678
Nol [f() 25 =X 25}
ol =|f(x)=—""F7—,a=
5-4/x

| x 124.8000(124.9000124.9900124.9990124.9999|.. |la = 25]...125.0001125.0010125.0100125.1000125.2000/

7-8x+x
No2=|f(x)=—"F7—",a=
| x | 6.8000| 6.9000] 6.9900] 6.9990| 6.9999|.. |la = 7|...] 7.0001] 7.0010| 7.0100| 7.1000| 7.2000]
No3 =| f(x)= ~a=0
L 1-e |
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
2|«]
Nod=|f(x)=—""",a=0
L X +x ]
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
X
NoS=|f(x)=—",a=0
sin(x)
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-12,3=-9,y=-1,0=1,e=6]
PRI A ID'0:610:0.0:0°0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6300202-00033XX

LimitExerciseOl for No.12690
cos(x)—1
Nol=|f(x)=—""—,a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
X
No2=|f(x)=7>,a=0

|x + X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

-3 +x

No3=|f(x)=—"",,a=3
I18—9x+x
x | 2.8000] 2.9000| 2.9900| 2.9990] 2.9999|.. |la = 3]...| 3.0001| 3.0010| 3.0100] 3.1000| 3.2000]
7x
No4 =| f(x)= ~a=0
l-e

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

4-fx
NoS=|f(x)=—"",a=16
16 —x
| x ]115.8000115.9000115.9900115.9990115.9999|.. |Ja = 16]...116.0001116.0010(116.0100116.1000116.2000 |

No6=[a=-4,B=-2,y=4,06=9,e=11]
PN RECEREIN IR D 0.0.0.0.0:0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX K KXXXKXXXXXME/1-6300202-00034XX
LimitExerciseOl for No.12696

Nol =|f(x)=7—>"7,a=0
| x |-0.2000/-0.1000/-0.01001-0.0010|-0.00017].. Ia = .| 0.0001| 0.0010| 0.0100] 0.1000] 0.2000]
f 2
No2=|f(x)=—"",a=4
| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999|.. la = 4|...| 4.0001] 4.0010] 4.0100| 4.1000] 4.2000]
sin(x)
No3=|f(x)=—",a=0
X
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
2-2¢"
No4=|f(x)=—""a=0
RS
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-2 +x
NoS=|f(x)=—"",,a=2
—12+4x+x
| x | 1.8000] 1.9000| 1.9900| 1.9990| 1.9999|.. Jla = 2]...] 2.0001|] 2.0010| 2.0100] 2.1000] 2.2000]

No6=[a=-11,B=-9,y=-6,5=0,e=2]
DGR T (CHE VY S IND 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:9.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.9.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK XXX XXX XKXXXKXXXXXME/1-6300202-00035XX
LimitExerciseOl for No.12777

—T+x
Nol=|f(x)=—"" 5,a=7
21 -10x+x

| x | 6.8000] 6.9000| 6.9900| 6.9990| 6.9999|.. |Jla = 7]...] 7.0001|] 7.0010| 7.0100] 7.1000] 7.2000]

Jx =7

No2=|f(x)=—"a=49

49 —x

| x 148.8000148.9000148.9900148.9990148.9999|.. |a = 49]...149.0001149.0010(149.0100149.1000149.2000

X4 x
No3 = f(x)zw,azo

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
5-5¢"
No4=|f(x)=—""a=0

X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
sin(x)
NoS=|f(x)=—"a=0

X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-8,B=-6,y=2,0=3,e=5]
DN BET TR CIHIED 0.00.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK KKK XKXXXKXXXXXME/1-6300202-00036XX
LimitExerciseOl for No.12785

Ax =38

Nol :[f(x) :x——’ a= 64}

64

| x [63.8000[163.9000163.9900163.9990163.9999].. |a = 64]...164.0001164.0010164.0100164.1000]64.2000/
x|
No2=|f(x)=—"",a=0

X +x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

-3 +x

No3=|f(x)=—"_,,a=3
2x—15+x

| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]

[9=32 00
No4=| f(x)= ~a=0

l1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-9,Bp=-1,7y=8,8=9,c=12]
DRI (CHENIVCIN D 9.0:9.:0.9.9:9.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.9.0.0:9:0.0.0.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:0:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK KKK K XKK KKK KKK KKK KKK XKKKKKKME6/1-6300202-00037XX

LimitExerciseOl for No.13085
Nol [f() x— 16 16}
ol = X :—’a:
Jx -4

| x 115.8000115.9000115.9900115.9990(115.9999|.. |a = 16/...]16.0001(116.0010/16.0100[/16.1000(16.2000 |

=300
No2=|f(x)=—""a=0

X +x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
sin(x)
No3=|f(x)=—",a=0
X
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

2—x+x
No4 = f(x):T,azz
—2+x

| x | 1.8000| 1.9000] 1.9900| 1.9990] 1.9999|.. |la = 2]...] 2.0001] 2.0010| 2.0100| 2.1000] 2.2000|
6-6¢
NoS=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-6,=-3,y=6,0=7,e=9]
DN BET TR HATED 0:06.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



| XXXXKXKXKKKKKKKXKXKXKXKXKXKXKXKXXXXXXXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX XXX KKK KKK KKK KK KKK KKK KKK KKK KKK KKK KKK KKK KKKKKK
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